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After being open for a long time, the switch closes at ¢ = 0.
a)  Give expressions for the following in terms of no more than vg, Ry, R2 L, and C:

di(t)

i(t=0") and
dr |-+

b) Find the numerical value of R, given the following information:
R =150 Q L=40 mH C=32uF
o =12501/s oy =25001/s
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At ‘tfﬁ*, the switeh s ¢losed and
EL{ﬂ*}:EL{E}_} ar vcfﬂ*l:lzuc[t:*j.

Ve ard R are shorted out by the
switeh., This shert divides the
circuitt  inte twe hales that we
may  sslve  ind ELPE-_H:;[E::-.-I;L . The ane
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Hz: L'.." thﬂ I:I.
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Because +he C acts Like & wire

all +he current From +the L
will Flow +hry +the <. 3o

+he
current

in Rs i35 zero, (Another
way +to see fhis (s to cbserye

that R, has oy =l acrss it, and
by Ohm5 law i(oF) =oU/R, =0A)
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We observe that 1, is acress K, :
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Now we colifferentiate the eatire egh:

dufe)y = L dve = 1 ti
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(We have used Lo = C e reqrmnﬂcpf.]
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We evaluate L,d at =0t  We hobed

earlier that all +the current From

the L goes #iry C. If we follow

+the directien of the current arrow
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